(2DH)

Q, =-F, +Cw,

(4)

(2005)
3
2007
3
3 2006
3 (Q3D)
LRSS S0 U (A O A [ \a—h
6’[ 1_2 S ﬂ, 6X bx s | bx 6X 8y by s | by ay
qu qu (1999)
F, (1984)
u, u. 2w, 1y=0
F, =(1-y)C,aw,| —-1
. =(-7)C, '{Wf ] (u*swf:yzl
0<a<1.0 C, C, =0.347N; "
06884,
° 1.13sgw,T
S T
2
£+U%+V@=£(8X£j+i & E +_},Q;
ot OX oy ox\“ox) oyl Yeoy) m+h
3 4
0 1

M)

)

@)

(4)



(1) At=100s 1 100 At =0.25
0.5s 2
() o 0.0001
———>
’ :1:
H1/3 =1.5m T1/3 =7.0m | |
20° 0.25m/s( 50m* ) ]
-4(a) (c) 40
—
(a) (Casel)
(b) (c) Case2,3 Case? | l |
Case3 x=800m C=0.00007 l
0.0001 200m® 100mx2m 0.25m/s
0.0035m*s  0.005m*/s
Case2 110,000m° | =pdays t=100s
-5 6 y=270m
(x=450m) -4 6
-1
SO0
400—§EEEEEE§§§§
b PAIEN
. [ oot
£ E I
= 5 > o
F 0013
ool
0O 100 200 300 400 500 600 700 800 00 AA};&;‘ 200 300 400 500 600 700 800

-2

200
(a)Casel

300 400

500

x(m)

600

700

1/50

100 200 300 400 500 600
(b)Case2 C=0.00007

-4 40

700

-3

200

x(m)

500

300 400 600 700

(c) Case3 C=0.0001



0 0

2,
~— 1 : 17
E4] E
= 1 < 1 - Casel(

6 - Casel( = Case3 C=0.0001) 2 ——  Case2 C=0.00007)

1 —— Case2 C=0.00007) —— Case3 C=0.0001)
100 200 300 400 500 600 700 8 0 100 200 300 400 500
x(m) y(m)
-5 (y=270m) -6 (x=450m)
(2008)
_7(a) (C) 20 100 200 400 600 800 1000 1200 1400
1.5m
7.0s 20 2 ( 2 3m) Q3D
6m 20000
20
2 -7 | _|
(1008)
-8
-9

-10 200 600 800 1000

400 600

800

1000 1200 1400



1400

1200

1000

800

600

400

200

000000000000000000

1400

1200

1000

800

600

400

200

~

400 600 800 1000 1200 1400

200

(m)

-10

2008

776-780.

pp.

55

2005

pp.521-525.

52

2

2006

Pp.486-490.

53

3
pp. 686-690.

(2007)

54

31

1984

pp.411-415.



